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67�� 0$5<� 6800(5� 3,&1,&� ZLOO� EH� RQ� 6XQGD\��
$XJXVW� ��WK�� RXU� SDULVK¶V� SDWURQDO� IHDVW� GD\�� DW� 6ORYHQVND�
3ULVWDYD� RQ� %UDQGW� 5G�� LQ� +DUSHUVILHOG�� 2KLR�� � :H� ZLOO�
EHJLQ� ZLWK� 0DVV� DW� ������ QRRQ�� IROORZHG� E\� D� :LHQHU�
6FKQLW]HO� GLQQHU� SUHSDUHG� E\� RXU� 6W�� 0DU\� 6ORYHQLDQ�
6FKRRO� SDUHQWV�� � 'RQDWLRQ� LV� ���� IRU� DGXOWV� DQG� ��� IRU�
FKLOGUHQ� XQGHU� WKH� DJH� RI� ���� � 7KHUH� ZLOO� DOVR� EH�
KDPEXUJHUV� DQG� ,WDOLDQ�6DXVDJH� VDQGZLFKHV� DIWHU�0DVV� LQ�
WKH� ,QWHUQDWLRQDO� %LHUJDUWHQ�� � )URP� ����� S�P�� RQ�� WKH�
NLWFKHQ� ZLOO� EH� RSHQ� IRU� KDPEXUJHUV�� IULHV�� NOREDVH�� DQG�
þHYDSþLþL� GLQQHUV� E\� WKH� RXWGRRU� JULOO�� � 0XVLF� ZLOO� EH�
SURYLGHG�E\�$QVDPEHO�9HVHOL�*RGFL���7KHUH�ZLOO�EH�D�%DNH�
6DOH��&KLQHVH�$XFWLRQ�DQG�������UDIIOH�GXULQJ�WKH�GD\���$W�
�����S�P���ZH�ZLOO�KDYH�FKLOGUHQ¶V�JDPHV���7KH�SRRO�ZLOO�EH�
RSHQ�IRU�D�QRPLQDO� IHH�� �7KHUH� LV�QR�DGPLVVLRQ�RU�SDUNLQJ�
IHH� IRU� RXU� SLFQLF�� � $QG�� OLNH� DOO� RXU� VRFLDO� DFWLYLWLHV��
HYHU\RQH�LV�ZHOFRPH�WR�DWWHQG��� 
 
35,0256.,� ./8%� $118$/� 3,&1,&� ZLOO� EH� DW�
6ORYHQVND� 3ULVWDYD� RQ� 6XQGD\��$XJXVW� �WK�� � 7KH� GD\�ZLOO�
EHJLQ�ZLWK�0DVV�DW�������S�P���$�GHOLFLRXV�GLQQHU�RI�\RXU�
FKRLFH� RI� *RODå� RU� 9DPSH� ����� GRQDWLRQ�� ZLOO� EH� VHUYHG�
LPPHGLDWHO\�DIWHU�0DVV�� �7KH�NLWFKHQ�ZLOO�DOVR�EH�VHUYLQJ�
EXUJHUV��IULHV�DQG�NOREDVH�ODWHU�LQ�WKH�DIWHUQRRQ���ýHYDSþLþL�
GLQQHUV� ZLOO� DOVR� EH� DYDLODEOH� IRU� ����� � )UHG� =ZLFN�
2UFKHVWUD�ZLOO�SOD\�IRU�\RXU�OLVWHQLQJ�DQG�GDQFLQJ�SOHDVXUH���
7KHUH�LV�QR�IHH�WR�DWWHQG��DQG�HYHU\RQH�LV�YHU\�ZHOFRPH�WR�
FRPH� DQG� FHOHEUDWH� ZLWK� RXU� HYHU-IULHQGO\� 3ULPRUFL� DQG�
3ULPRUNH�� 
 
7+(� )(67� –� $� '$<� 2)� &$7+2/,&� )$,7+��
)$0,/<�$1'�)81�ZLOO�EH�RQ�6XQGD\��$XJXVW��WK�DW�WKLV�
\HDU¶V�QHZ�ORFDWLRQ�� WKH�&OHYHODQG�0HWUR�3DUNV�%URRNVLGH�
5HVHUYDWLRQ� ����� -RKQ� 1DJ\� %OYG�� &OHYHODQG� �QHDU� WKH�
&OHYHODQG�=RR����7KLV�\HDU��WKHUH�ZLOO�EH�D�����HQWUDQFH�IHH�
IRU� WKRVH� �� \HDUV� RI� DJH� DQG� ROGHU�� � +HDG� WR�
ZZZ�7KH)(67�XV�WLFNHWV� WR�JHW�\RXU� WLFNHWV� WRGD\�� �*DWHV�
RSHQ�DW�������D�P���&KULVWLDQ�DUWLVWV�)RU�.LQJ�DQG�&RXQWU\��
'DQQ\�*RNH\��7DXUHQ�:HOOV��DQG�:H�DUH�0HVVHQJHUV�ZLOO�
SHUIRUP�� � 0DUF¶V� ZLOO� EH� JLYLQJ� DZD\� RYHU� �������� LQ�
SUL]HV�DW�WKH�)(67���%LVKRS�(GZDUG�0DOHVLF�ZLOO�FHOHEUDWH�
0DVV�DW������S�P���7KRVH�SODQQLQJ�WR�DWWHQG�WKH�0DVV�RQO\�
GR� QRW� QHHG� WR� SXUFKDVH� D� WLFNHW� EXW� PXVW� UHJLVWHU� LQ�
DGYDQFH�� � 7KH� GD\� ZLOO� HQG� ZLWK� D� IDQWDVWLF� ILUHZRUNV�
GLVSOD\��� 
)(67� 92/817((56� $5(� 1((('('�� � ,W� ZLOO� WDNH�
RYHU� ������ YROXQWHHUV� WR�PDNH� WKH�)(67�KDSSHQ�� �7R� JHW�
LQYROYHG� RU� WR� OHDUQ� PRUH�� YLVLW� ZZZ�7KH)(67�XV�
YROXQWHHUV� 
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/DVW�6XQGD\¶V�2IIHULQJ�������� 
&KXUFK� 1HHGV�� ���� LQ� PHPRU\� RI� 0DU\� 9UKRYQLN�
IURP�6WDQ�	�-DPLH�=DODU� 
� 

<RXU�JHQHURVLW\�WR�WKH�SDULVK�LV�DSSUHFLDWHG� 
� 
$118$/� 3,/*5,0$*(� 72� 62552:)8/�
027+(5�6+5,1(� ,1�%(//(98(��2+,2�ZLOO�EH�RQ�
6XQGD\�� $XJXVW� ��QG�� � 7KLV� KDV� EHHQ� D� ORQJ-VWDQGLQJ�
WUDGLWLRQ� RI� RXU� 6ORYHQLDQ� SDULVKHV� WR�PDNH� SLOJULPDJH� DW�
WKH� HQG� RI� WKH� PRQWK� RI� $XJXVW�� � 7KHUH� ZLOO� EH� D� EXV�
OHDYLQJ�6W��0DU\¶V�DQG�6W��9LWXV�9LOODJH���7R�UHVHUYH�D�IUHH�
VHDW� RQ� WKH� EXV�� SURYLGHG� E\� .6.-� ������ 6W�� -RVHSK�
)RXQGDWLRQ��FRQWDFW�7RP�3HUFLF��DW����-���-�����RU�HPDLO�
WRPP\SHHNDN#JPDLO�FRP�� � 0DVV� ZLOO� EH� FHOHEUDWHG� DW�
������ S�P��� IROORZHG� E\� OXQFK�� � 0DQ\� IDPLOLHV� EULQJ� D�
SLFQLF� OXQFK�� EXW� WKH� FDIHWHULD�ZLOO� EH� RSHQ� IRU� GLQQHU� E\�
UHVHUYDWLRQ� RQO\� �PLQLPXP� RI� ��� GLQQHUV��� � $IWHU� OXQFK�
WKHUH�ZLOO� EH� IUHH� WLPH�� IROORZHG�E\�6WDWLRQV� RI� WKH�&URVV�
DQG� FRQFOXGLQJ� ZLWK� VXQJ� /LWDQ\� RI� WKH� %OHVVHG� 9LUJLQ�
0DU\��%HQHGLFWLRQ�DQG�3LOJULP¶V�%OHVVLQJ�� �:H�HVSHFLDOO\�
HQFRXUDJH� RXU� \RXQJHU� IDPLOLHV� WR� MRLQ� XV� VR� WKDW�ZH� FDQ�
FRQWLQXH�WKLV�ZRQGHUIXO�WUDGLWLRQ� 
 
+,*+� 6&+22/� 6&+2/$56+,3� $33/,&$7,216���
6W��0DU\¶V� LV� KDSS\� WR� DVVLVW� RXU� \RXQJ� SHRSOH�ZLWK� WKHLU�
KLJK� VFKRRO� &DWKROLF� HGXFDWLRQ� E\� SURYLGLQJ� ILQDQFLDO�
VFKRODUVKLSV�WR�WKRVH�ZKR�DUH�DFWLYH�PHPEHUV�RI�RXU�SDULVK�
FRPPXQLW\�DQG�DUH�SUHVHQWO\�DWWHQGLQJ�RU�ZLOO�EH�DWWHQGLQJ�
&DWKROLF�KLJK�VFKRRO�LQ�WKH�)DOO�RI��������$SSOLFDWLRQV�PD\�
EH�SLFNHG�XS�LQ�WKH�UHFWRU\�RIILFH�GXULQJ�WKH�ZHHN�EHWZHHQ�
����� D�P�� DQG� ����� S�P�� RU� LQ� WKH� SULHVW¶V� VDFULVW\� DIWHU�
ZHHNHQG�0DVVHV�� �'HDGOLQH� IRU� VXEPLWWLQJ� DSSOLFDWLRQV� LV�
0RQGD\��$XJXVW���������� 
 
0,66,21� &2-23�� � 7KH� ZHHNHQG� RI� $XJXVW� �WK� 	� �WK��
5HY��/XLV�&DUORV�'H�/HRQ�3HUH]��D�SULHVW�RI�WKH�0LVVLRQDU\�
)UDWHUQLW\�RI�0DU\�ZLOO�SUHDFK�DW�DOO�RXU�0DVVHV��DV�SDUW�RI�
RXU�DQQXDO�PLVVLRQ�FR-RS�DSSHDO���)U��/XLV�&DUORV�ZDV�ERUQ�
LQ�*XDWHPDOD�DQG�ZDV�RUGDLQHG�D�SULHVW�RQ�6HSWHPEHU�����
�������+H�KDV�VHUYHG�LQ�QXPHURXV�FDSDFLWLHV�LQ�KLV�UHOLJLRXV�
RUGHU� LQ� *XDWHPDOD�� WKH� 8QLWHG� 6WDWHV� DQG� ,WDO\�� � +H�
SUHVHQWO\� VHUYHV� DV� 9LFDU� *HQHUDO� RI� WKH� 6RFLHW\�� � 7KH�
0LVVLRQDU\� )UDWHUQLW\� RI� 0DU\� ZDV� IRXQGHG� LQ� ����� DQG�
SUHVHQWO\�KDV�����0LVVLRQDU\�SULHVWV�VHUYLQJ�LQ����PLVVLRQV�
LQ� ��� GLRFHVH� LQ� ��� FRXQWULHV�� � 7KHLU� PDLQ� ZRUN� LV�
SURPRWLQJ� YRFDWLRQV� DQG� SDVWRUDO� WUDLQLQJ� WR� SURYLGH�
VHUYLFH�WR�WKH�SRRU��DQG�WR�SUHSDUH�\RXWK�IRU�OD\�PLQLVWU\�LQ�
WKH�&KXUFK���3OHDVH�EH�YHU\�JHQHURXV�LQ�\RXU�VXSSRUW�ZLWK�
WKDW�ZHHNHQG¶V�VSHFLDO�VHFRQG�FROOHFWLRQ�IRU�WKH�0LVVLRQDU\�
)UDWHUQLW\�RI�0DU\���� 
 
0$5.� <285� &$/(1'$56� )25� 21(� :25/'�
'$<�� VSRQVRUHG� E\� WKH� &OHYHODQG� &XOWXUDO� *DUGHQV�
$VVRFLDWLRQ���7KH�HYHQW�ZLOO�EH�KHOG�LQ�&OHYHODQG¶V�&XOWXUDO�
*DUGHQV� DORQJ� 0/.� %OYG�� DQG� (DVW� %OYG�� RQ� 6XQGD\��
$XJXVW���WK���0RUH�LQIRUPDWLRQ�ZLOO�IROORZ��������� 
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 �����D�P� 3DULVKLRQHUV 
 ������D�P� $OWDU�6RFLHW\ 
 
3OHDVH�3UD\� IRU�2XU� 6LFN��%UDQNR�3LãRUQ��)UDQFHV�.UDOO��
7RP� 0F1XOW\�� 0ODGHQ� 	� 'XãDQND� /HQJHO�� 9HURQLND�
8GRYLþ�� $QQ� 0DULH� 9HQH�� )UDQFHV� 5X]LF�� 7HG� -HQGD��
&DPHOOH�%URZQ��%RE�0F&OHDU\ 
 
0D\�6KH�5HVW�LQ�*RG¶V�3HDFH� 
����������������-XOLD�2PDKHQ� 
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/HFWRUV�([WUDRUGLQDU\�0LQLVWHUV 
�:HHNHQG�RI�-XO\���VW�$XJXVW��VW� 

 
6DWXUGD\ �����S�P� -HDQQH�0DWXFK�0DUOHQH�

6RQGHUJDUG 
6XQGD\ �����D�P� )ORULDQ�2VUHGNDU�9LF�6WHSHF 
 ������D�P� $OWDU�6RFLHW\�0DUWKD�5R]PDQ 
  
)2508/$5�=$�â7,3(1',-2�9,â-(�â2/(�� �1DãD�åXSQLMD�
MH� YHVHOD�SRPDJDWL� QDãLP�PODGLP�]�QMLKRYR�NDWROLãNR� L]REUD]ER�
GD� QXGL� ILQDQþQH� ãWLSHQGLMH� WLVWLP� NL� VR� DNWLYQL� þODQL� QDãH�
åXSQLMVNH� VNXSQRVWL�� LQ� VHGDM� KRGLMR� DOL� ERGR� ]DþHOL� KRGLWL� Y�
NDWROLãNR� YLãMR� ãROR� Y� MHVHQL� ������ � )RUPXODU� ODKNR� SREHUHWH� Y�
åXSQLMVNHP�XUDGX�PHG�WHGQRP�RG������]MXWUDM�GR������XUH�]YHþHU��
DOL�Y�]DNULVWLML�RE�QHGHOMDK�SR�PDãDK���5RN�]D�YUQLWHY�IRUPXODUMHY�
MH�GR�SRQHGHOMND�����DYJXVWD����������� 
 

2=1$ý,7(�.2/('$5-(� =$� (1� 69(7291,�'$1��NL�JD�
VSRQ]RULUD�GUXãWYR�&OHYHODQGVNLK�.XOWXUQLK�9UWRY�� �'RJRGHN�VH�
ER�YUãLO�QD�&OHYHODQVNLK�.XOWXUQLK�9UWRYLK�RE�0/.�%YG��LQ�(DVW�
%OYG��Y�QHGHOMR������DYJXVWD���9Hþ�LQIRUPDFLM�ER�VOHGLOR�� 
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�32/(71,� 3,.1,.� 0$5,-(� 91(%29=(7(� ER� Y� QHGHOMR�
���� DYJXVWD� QD� SDWURQVNL� SUD]QLN� QDãH� åXSQLMH�� QD� 6ORYHQVNL�
3ULVWDYL�QD�%UDQGW�5G��Y�+DUSHUVILHOGX��2KLR���3ULþHOL�ERPR�V�VY��
PDãR� RE� ��K�� VOHGL� NRVLOR� ]� GXQDMVNLPL� ]UH]NL�� NL� JD� ERGR�
SULSUDYLOL�VWDUãL�QDãH�VORYHQVNH�ãROH���&HQD�MH�����]D�RGUDVOH�LQ����
]D� RWURNH� SRG� GYDQDMVWLP� OHWRP�� � +DPEXUJHUML� LQ� ,WDOLMDQVNH�
NOREDVH�ERGR�WXGL�QD�YROMR�Y�PHGQDURGQHP�%LHUJDUWHQX�WDNRM�SR�
PDãL�� �2G������QDSUHM�ER�NXKLQMD�RGSUWD�]D�KDPEXUJHUMH��SRPIUL�
LQ� NOREDVH� NDNRU� WXGL� þHYDSþLþL� RE� ]XQDMQHP� åDUX�� � =D� SOHV� LQ�
]DEDYR� ER� LJUDO� $QVDPEHO� 9HVHOL� *RGFL�� � ýH]� GDQ� ERPR� LPHOL�
SURGDMR� SHFLYD�� NLWDMVNR� GUDåER�� ������ åUHEDQMH� LQ� RE� �����
SRSROGDQ� RWURãNH� LJUH�� � 3ODYDOQL� ED]HQ� ER� RGSUW� ]D� PDMKQR�
YVWRSQLQR���9VWRSQLQH�QL�LQ�NDNRU�]D�YVH�QDãH�GUXåDEQH�GHMDYQRVWL�
VWH�YVL�GREURGRãOL� 
/(71,� 3,.1,.� 35,0256.(*$� ./8%$� ER�QD�6ORYHQVNL�
3ULVWDYL� Y� QHGHOMR� ��� DYJXVWD�� � 'DQ� VH� ER� SULþHO� V� VY�� PDãR� RE�
������SRSROGDQ�� �3R�PDãL�ERGR�SRVWUHJOL� ]�RNXVQLP�NRVLORP�SR�
YDãL� L]ELUL�*RODå�DOL�9DPSH��FHQD�MH��������3RSROGQH�ERGR�LPHOL�
QD� YROMR� KDPEXJHUMH�� SRPIUL� LQ� NOREDVH� NDNRU� WXGL� þHYDSþLþL� ]D�
������=D�SOHV�LQ�]DEDYR�ER�LJUDO�RUNHVWHU�)UHG�=ZLFN���9VWRSQLQH�
QL�LQ�YVL�VWH�OHSR�YDEOMHQL�GD�SUD]QXMHWH�]�QDãLPL�YHGQR�SULMD]QLPL�
3ULPRUFL�LQ�3ULPRUNDP� 
/(712� 520$1-(� .� ä$/2671,� 0$7(5,� %2ä-,� 9�
%(//(98(��2+,2�ER�Y�QHGHOMR�����DYJXVWD���7R�MH�GROJROHWQD�
WUDGLFLMD� � QDãLK� VORYHQVNLK� åXSQLM�� GD� URPDPR� NRQHF� PHVHFD�
DYJXVWD�� � 'UXãWYR� VY�� -RåHID� .6.-� ER� ]DJRWRYLO� DYWREXV� ]D�
EUH]SODþQL� SUHYR]� URPDUMHY� RG�0DULMH� 9QHERY]HWH� LQ� 6Y�� 9LGD���
=D�UH]HUYDFLMH�SRNOLþLWH�7RPDåD�3HUþLþ�QD����-���-�����DOL�SR�H-
SRãWL�QD� WRPP\SHHNDN#JPDLO�FRP�� � �0DãD�ER�RG��������VOHGLOR�
ER� NRVLOR�� � 9HOLNR� GUXåLQ� SULQHVH� VHERM� SLNQLãNR� NRVLOR�� ER� SD�
MHGLOQLFD�RGSUWD�VDPR�SR�QDURþLOX���3R�NRVLOX�ER�SURVWL�þDV��VOHGLO�
ER� NULåHY� SRW�� SHWH� OLWDQLMH� 0DWHUH� %RåMH�� LQ� ]DNOMXþLOL� ERPR� ]�
EODJRVORYRP� ]� 1DMVYHWHMãLP� NDNRU� WXGL� ]� 5RPDUVNLP�
EODJRVORYRP�� � 9]SRGEXMDPR� QDãH� PODMãH� GUXåLQH�� GD� VH� QDP�
SULGUXåLMR��GD�ERPR�ODKNR�QDGDOMHYDOL�WR�OHSR�WUDGLFLMR����� 
0,6,-216.$�1$%,5.$�� �9�YLNHQG����LQ����ER�J��/XLV�&DUORV�
'H�/HRQ�3HUH]��GXKRYQLN�0LVVLRQDU\�)UDWHUQLW\�RI�0DU\�SULGLJDO�
SUL�YVHK�PDãDK��NRW�GHO�QDãH�YVDNROHWQH�PLVLMRQVNH�QDELUNH�� �*��
/XLV�&DUORV�MH�ELO�URMHQ�Y�*XDWHPDOL�LQ�ELO�SRVYHþHQ�Y�GXKRYQLND�
���� VHSWHPEUD� ������ � 2Q� MH� GHORYDO� Y� ãWHYLOQLK� VSRVREQRVWLK� Y�
QMHJRYHP� YHUVNHP� UHGX� Y�*XDWHPDOL�� ='$� LQ� ,WDOLML�� �2Q� VHGDM�
VOXåL� NRW�JODYQL�YLNDU�GUXåEH�� �0LVVLRQDU\�)UDWHUQLW\�RI�0DU\� MH�
ELOD� XVWDQRYOMHQD� OHWD� ����� LQ� LPD� VHGDM� ���� PLVLMRQDUMHY� NL�
VOXåLMR� Y� ��� PLVLMRQLK� Y� ��� ãNRILMDK� Y� ��� GUåDYDK�� � 1MLKRYR�
JODYQR�GHOR�MH�SRYLãDWL�GXKRYQH�SRNOLFH�LQ�SDVWRUDOQR�L]REUDåHQMH�
GD� SUHVNUEL� VOXåHQMH� XERJLP� LQ� SULSUDYL� PODGLQR� ]D� ODLþQR�
VOXåHQMH�Y�FHUNYL���3URVLPR��ERGLWH�UDGRGDUQL�Y�YDãL�SRGSRUL�Y�WHP�
YLNHQGX�SUL�GUXJL�QDELUNL�]D�0LVVLRQDU\�)UDWHUQLW\�RI�0DU\� 
7+(� )(67� –� '$1� 9(5(�� '58ä,1(� ,1� =$%$9(� ER� Y�
QHGHOMR����DYJXVWD� OHWRV�QD�QRYL� ORNDFLML��&OHYHODQG�0HWUR�3DUNV�
%URRNVLGH� 5HVHUYDWLRQ�� ����� -RKQ� 1DJ\� %OYG�� Y� &OHYHODQGX�
�EOL]X�&OHYHODQGVNHJD� åLYDOVNHJD� YUWD��� � /HWRV� MH� YVWRSQLQD� ����
]D� YVH� RG� ��� OHWD� QDSUHM� NL� MLK� ODKNR� QDURþLWH� QD�
ZZZ�7KH)(67�XV�WLFNHWV�� �9UDWD� VH�ERGR�RGSUOD� RE���K� ]MXWUDM���
1DVWRSLOL�ERGR�NUãþDQVNL�DQVDPEOL�7DXUHQ�:HOOV��'DQQ\�*RNH\��
)RU�.LQJ�DQG�&RXQWU\�LQ�:H�DUH�0HVVHQJHUV���0DUF¶V�WUJRYLQD�ER�
QD� �)(67-X�SRGHOLOD�YHþ�NRW���������QDJUDG�� �6YHWD�PDãD��NL� MR�
ER� GDURYDO� âNRI� (GZDUG� 0DOHãLþ�� ER� RE� �K� ]YHþHU�� � 7LVWL�� NL�
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